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Q1

A new neighbour holds a party in order to get to know people. You
notice that each time he greets someone he says his name is Joe
and then says he's a dentist. Which of the following is the most
plausible explanation for why he tells people his occupation?

e |t signals that if a neighbour has a dental problem, they know
where to get treatment.
e He thinks it confers a superior status.

e It's a powerful but simple signal to neighbours about his
income, education, tastes, attitudes and other characteristics.

e He does not wish to be mistaken for a doctor or accountant.
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Q2

Your current income is about £3,000 per month. When a
researcher asks you what level of compensation you would feel
adequate in the case of job loss, you estimate this at £5,000 per
month. This discrepancy definitely indicates:

e You think you are underpaid.

e You are greedy.

e You value the loss of status and general sense of wellbeing at
£5,000 per month.

e You value the loss of status and general sense of wellbeing at
£2,000 per month.
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Q3

The figure above shows the log of UK real GDP per capita between
1875 and 1914. Which of the following is correct? graph

e The growth of GDP in the 1950s was above the long-run
average.

e The growth of GDP in the 1880s was above the long-run
average.

e In the figure the coefficient on x is 0.0156 and tells us the
slope of the regression line (line of best fit). If, instead, this
were 0.02 the line would be flatter.

e The slope of the blue line tells us the rate of growth of per
capita GDP but can tell us nothing about the level.
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https://drive.google.com/file/d/1LyYAV0U9japlKBuQQsD6nOercA-FlNkn/view?usp=drivesdk

Q4

The two figures above both show the long-run growth of real per
capita GDP in the UK (in logs) but for different periods. Which of
the following is correct? graph 1 graph 2

e Since 1950, the annual rate of growth of GDP per capita has
been more rapid than the average rate of growth over the
whole period since 1875.

e The average rate of growth before 1950 must have been more
rapid than since 1950.

e For the period 1875-1950 the average rate of growth in real
GDP per capita must have been between 1.5 and 2.0 per cent.

e Since the financial crisis, the growth of real per capita GDP
has fallen below the long-run average rate from 1875.
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https://drive.google.com/file/d/1LyYAV0U9japlKBuQQsD6nOercA-FlNkn/view?usp=drivesdk
https://drive.google.com/file/d/14ayMaL2Lfb2-APF5vq_Q96I9MbFk8fPX/view?usp=drivesdk

Q5

Okun’s law implies that:

e Changes in the unemployment rate and GDP growth rate are
positively correlated.

e The change in unemployment is negative in booms and
positive in recessions.

e Every change in the level of employment is exactly matched by
an opposite change in the level of unemployment.

e GDP growth rate and changes in unemployment are inversely
correlated.
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